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Ucxonubie 1aHHLIE

Total Depth Well — 12000 ft,
Bottom Hole Temperature - 200 F,
Mean Surface Temperature - 60 F,
Depth of Formation - 9000 ft,
Depth of Formation - 8000 ft,
Geothermal Gradient - 1.0 F/100 ft,

Mean Surface Temperature - 60 F,
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Depth of Formation - 8000 ft,

Geothermal Gradient -

1.0 F/100 ft,

Mean Surface Temperature - 60 F,

Arnmnal mean
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OnpenesieHue 3IEKTPUIECKUAX
[HapaMeTpoB OypoBOro pacrBopa
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| YaeabHoOe dJIeKTPAUYECKOE CONPOTHUBJIEHHE pacTBopa Rm

] YneabHoe dJIeKTPHUYECKOE CONPOTHUBJIEHHE IVIMH pacTBopa Rmc
| YneabHoe dJIeKTPAUYECKOe conpoTuBIeHre puabrpara Rmf



Basic Material

Estimation of Rmf and Rme

Direct measurements of filtrate and mudcake samples are pre-
ferred When not available, filrate resistivity, Ry, and mudezke
resiztivity. Rpe. may be estimated from one of the following
methods.

Method 1

Lowe and Dunlap (Refevence 30)

For freshwater muds with mud resiztivity, R, in the range from
0.1 to 2.0 ohm-m at 75°F [24°C], and measured values of Ry
and mud denzity, P, in pounds per zallon:

1og[%‘] =0.396-0.0475 pg

Method 2
Overton and Lipson (Refevence 1)

For dnllinz muds with mud resistivity, Ry, 1n the range from 0.1
to 10.0 ohm-m at 75°F [24°C], where K 15 Ziven as a function
of mud weight m the table balow:

Rmf — Km(Rm)l'm

R, ]165

Ry =0.69 (Rnf)[ R,

Gen-7

Example: Rp=3.5 ohm-m at 75°F [24°C]
Mud weight = 12 Ibm/zal [1440 kg/m?]
Therefore, Koy =0.584
Rps=(0.584)(3.5)1%7 =223 ohm-m at 75°F
Rune = 0.69(2.23)(3.5/2.23)*%% = 5.07 ohm-m at 75°F

The calculated value of Ry 15 more reliable than that of R

Mud Weight

bmgal | kgm® Ka
10 1200 0.847
11 1320 0.708
12 1440 0.584
13 1560 0.488
14 1680 0.412
16 1920 0.380
18 2160 0.350

o~

A statistical approximation, for pradomunantly NaCl muds. 15
Rex=15Rn, and Rer=0.75 Rn.
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Resistivity of NaCl Solutions

Corversion approximatedty R, = R, [(T, + 6.774T,+ 6.77FFor R, =R, [T, +21.5AT,+21.5FC
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